

Elect/Elect

$$1) \quad x(x-1)y'' + (3x-1)y' + y = 0$$

$$W_1 = x(x-1)y^2$$

let $u = y^2$

$$u' = 2y y'$$

$$u^{n-1} = y^{n-1}$$

$$u^{n-2} = y^{n-2}$$

$$v = x(x-1), \quad x^2 - x$$

$$v' = 2x - 1$$

$$v'' = 2$$

$$v^3 \geq 0$$

$$W_2 = (3x-1)y' \quad - (1)$$

$$u = y'$$

$$u' = y''$$

$$u^{n-1} = y^n$$

$$W_3 = y$$

$$u = y$$

$$u' = y'$$

$$v' = 1$$

$$v'' = 0$$

Applying Leibnitz in eqn (1) & (2)

$$y^n = (y^n)' + n y^{n-1} y' + \frac{n(n-1)}{2!} y^{n-2} y'^2 + \frac{n(n-1)(n-2)}{3!} y^{n-3} y'^3 + \dots$$

$$y^n = y^n + \dots$$

$$y^n = y^{n+2} (x^2 - x) + n x y^{n+1} (2x-1) + \frac{n(n-1)}{2} x y'' + 0$$

$$y^n = x(x-1) y^{n+2} + (2x-1) n y^{n+1} + n(n-1) y^n \quad - (1)$$

$$y^n = y^{n+1} (3x-1) + n y^n (3) + 0$$

$$y^n = y^n \times 1 + 0 = y^n$$

Assuming $x=0$

$$-n(y^{n+1})_0 + n(n-1)y^n_0 + (3n-1)y^{n+1}_0 + 3ny^n_0 + y^n_0 = 0$$

$$x(x-1) y^{n+2} + (2x-1)n y^{n+1} + n(n-1) y^n + (3n-1) y^{n+1} + 3ny^n + y^n = 0$$

Assuming $x=0$

$$-n(y^{n+1})_0 + n(n-1)y^n_0 - (y^{n+1})_0 + 3n(y^n)_0 + (y^n)_0 = 0$$

$$-(y^{n+1})_0 (n-1) + (y^n)_0 (n(n-1) + 3n + 1) = 0$$

$$-(y^{n+1})_0 (n+1) + (y^n)_0 (n^2 + 2n + 1) = 0$$

$$+(n+1)(y^{n+1})_0 = + (n^2 + 2n + 1)(y^n)_0$$

$$(n+1)(y^{n+1})_0 = (n^2 + 2n + 1)(y^n)_0$$

when $n=0$

$$(y^0)_0 = (y^0)_0$$

$$\text{But } (y^1)_0 = 0.0008 \pi$$

$$(y^1)_0 = 0.0008$$

when $n=1$

$$2(y^2)_0 = (1+2+1)(y^1)_0$$

$$2(y^2)_0 = 4(y^1)_0$$

$$(y^2)_0 = 2(y^1)_0$$

$$= 2 \times 0.0008 = 1 \times 10^{-3}$$

when $n=2$

$$3(y^3)_0 = (4+4+1)(y^2)_0$$

$$3(y^3)_0 = 9(y^2)_0$$

$$(y^3)_0 = 3(y^2)_0$$

$$(y^3)_0 = 3 \times (1 \times 10^{-3}) = 3 \times 10^{-3}$$

when $n=3$

$$4(y^4)_0 = (7+6+1)(y^3)_0$$

$$(y^4)_0 = 4(y^3)_0$$

$$= 4 \times (3 \times 10^{-3}) = 0.042 / 12 \times 10^{-3}$$

when $n=4$

$$5(y^5)_0 = (16+8+1)(y^4)_0$$

$$(y^5)_0 = 5(y^4)_0$$

$$= 5 \times 0.012 = 0.06$$

when $n=5$

$$(y^6)_0 = 6(y^5)_0$$

$$= 6 \times 0.06 = 0.36$$

when $n=6$

$$(y^7)_0 = 7(y^6)_0$$

$$= 7 \times 0.36 = 2.52$$

Using Leibnitz Eqⁿ

$$y^7 = (y^7)_0 + \pi(y^6)_0 + \frac{\pi^2}{2!}(y^5)_0 + \frac{\pi^3}{3!}(y^4)_0 + \frac{\pi^4}{4!}(y^3)_0 + \frac{\pi^5}{5!}(y^2)_0 + \frac{\pi^6}{6!}(y^1)_0 + \frac{\pi^7}{7!}(y^0)_0$$

$$\frac{\pi^7}{7!}(y^7)_0$$

$$y^7 = 0.0008 + 0.0008\pi + \frac{\pi^2}{2!} \times (1 \times 10^{-3}) + \frac{\pi^3}{3!} (3 \times 10^{-3}) + \frac{\pi^4}{24} \times 0.042 + \frac{\pi^5}{120} \times 0.36 + \frac{\pi^6}{720} \times 2.52$$

b) When $x = 5$

$$y = 5 \times 10^{-4} (1 + 5 + 25 + 125 + 625 + 3125 + 15625 + 78125)$$

$$y = 5 \times 10^{-4} \times 97656$$

When $x = 8$

$$y = 5 \times 10^{-4} (1 + 8 + 64 + 512 + 4096 + 32768 + 262144 + 2097152)$$

$$y = 1198.3725$$

When $x = 10$

$$y = 5 \times 10^{-4} (1 + 10 + 100 + 1000 + 10000 + 100000 + 1000000 + 10000000) = 5555.5555$$

c) ~~Enter~~

Command Window

Clear

clc

close all

Systems x

$$y = (5 * 10^4 - 4) * (1 + x + x^2 + x^3 + 2 * 10^4 + x^5 + x^6 + x^7 + x^8 + x^9)$$

$$x = (0:10)$$

$Y_n = \text{subs}(y, x)$

Plot(n, y_n)

x label ('Structural Element (m)')

y label ('Deformation')

grid on

grid minor

axis tight

$$6 + \frac{x^6}{6!} (y^6)^4$$

$$\frac{x^8}{8!} 0.06 +$$

$(n+1)C_0$
 $(n+1)C_1$
 $(n+1)C_2$
 $(n+1)C_3$
 $(n+1)C_4$
 $(n+1)C_5$
 $(n+1)C_6$
 $(n+1)C_7$
 $(n+1)C_8$
 $(n+1)C_9$
 $(n+1)C_{10}$
 $(n+1)C_{11}$
 $(n+1)C_{12}$
 $(n+1)C_{13}$
 $(n+1)C_{14}$
 $(n+1)C_{15}$
 $(n+1)C_{16}$
 $(n+1)C_{17}$
 $(n+1)C_{18}$
 $(n+1)C_{19}$
 $(n+1)C_{20}$
 $(n+1)C_{21}$
 $(n+1)C_{22}$
 $(n+1)C_{23}$
 $(n+1)C_{24}$
 $(n+1)C_{25}$
 $(n+1)C_{26}$
 $(n+1)C_{27}$
 $(n+1)C_{28}$
 $(n+1)C_{29}$
 $(n+1)C_{30}$
 $(n+1)C_{31}$
 $(n+1)C_{32}$
 $(n+1)C_{33}$
 $(n+1)C_{34}$
 $(n+1)C_{35}$
 $(n+1)C_{36}$
 $(n+1)C_{37}$
 $(n+1)C_{38}$
 $(n+1)C_{39}$
 $(n+1)C_{40}$
 $(n+1)C_{41}$
 $(n+1)C_{42}$
 $(n+1)C_{43}$
 $(n+1)C_{44}$
 $(n+1)C_{45}$
 $(n+1)C_{46}$
 $(n+1)C_{47}$
 $(n+1)C_{48}$
 $(n+1)C_{49}$
 $(n+1)C_{50}$